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B.A./B.SC. (Part-1) EXAMINATION 2014
(10+2+3 Patlern)
(Common for the Facultics of Arts and Science)
[Also Common with Subsidiary Paper of B.A. (Hons.) Part [
‘Three-Year Scheme of 104243 Pattern|
ECONOMICS
First Paper : Micro Economic Theory
Time : Three Hours Max. Marks. 100 for Arts
75 for Science
TOF GUS H § FH-V-FHT TH Y %1 999 I Y, FA 19 G F W
QS | v i 1 (agfaedia/awiie) sifad ¥ wdt vl F o
T E
foreft oft adiemeft =1 e STl 78 & st | ora: wdenfi = aifee
for 3 g sw-gfer A € wva g & s fad
fordt off w wva % sria YR TR fafim wel % SWSw-gfe W swem-
3TETT T W B B F FNG TF Bt TAq W & B
1. Choose and wrile the correct answer in your answer book:
T I gAR IW-Yferw | fafad 1x20
(1) Arise in the price of a commodity, holding everything else constant is
relerred as :
(a) an increase in demand (b) a decrease in demand
(¢) an increase in quantity demanded
(d) a decrease in quantity demanded ()
3= 9Tl % T T W, T 95 H! HHa A gig g w0 ;
(a) W H g At B (b) AT ot Bt ®
(c) wrtt TR W A gfE At ¥ (o) Wt R A A wR e R ()

(1))  Which among the following has the least price elasticity of demand :

(a) Car (b) Salt (¢) Tea (d) House ()
frafafad agpida fFaag et A Al s da @@ w=A §
(a) X (b) THH (c) 9 (d) 9 ()

(11i)  On the maximum level of satisfaction of good X, the marginal utility of
good X will be :

(a) Positive (b) Negative (c) Zero (d) Infinity ()
X o % fore wgfia fag @, X 1 g i @ @
(a) YR (b) BUHE () A (d) 3= ()
(iv)  When the elasticity of demand is equal to one, then the marginal revenue
will be:
(a) Positive (b) Negative (¢) Zero (d) Infinity ( )
STa AT T G TR % IER E, @ @HE e g
(a) BT (b) |OTHE®  (¢) A (d) o =1 ()
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(v)

(vi)

(vii)

(viii)

(ix)
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When total utility increases, mariginal utility is :
(a) Negative and increasing  (b) Negative and declining
(¢) Zero (d) Positive and declining ()

wa F ST wga ¥, @ S seifia

(d)sﬁumqaa'q?ﬂgﬁ {b)wmﬁnﬁﬁ

(c) I (d) ueTeh T vt g ()

An indifference curve slopes downwards right since more of one
commodity and less of another result in :

(a) same satisfaction (b) maximum satisfaction

(c) greater satisfaction (d) decrcasing expenditure ()

TF ST 9k wrt AR A sgen v ¥, F6ifn ¢ g @ orfus A
o gEd W wE A A E

(a) 7t wgfe _ (b) St wgfe

(c) sTvenpn siftss wqfe  (d) em gon = ()
Cross demand is the change in the quantity demanded of a given
commodity in response to the :

(a) change in the utility of another commodity

(b) change in the price of another commodity

(c) change in the nature of another commodity
(d) change in the size of another commodity )

fowet win @ aﬁmwmaﬁmﬁwﬁqﬂwﬁqw%ﬁ%ﬁ
(a) TE T it ST § STwR(b) T TG W WA B IR

(c) T 9] & v A afed=(d) Tl o & smrer ® ofadw ()
Total cost of production is equal to sum of the :

(a) Fixed and variable cost ~ (b) Average and marginal cost

(¢) Cost of raw material and labour

(d) Transport cost and establishment cost ()
IERA W He AT S S

(a) foor @ 9 wftad e v S A&

(b) 3irga 3 diwm o & A9 &

(c) F=d WIS 9 99 VI & I &

(d) I AT @ g™ a@rE % A % ()
Which cost increases continuously with the increasc in production :
(a) Average cost (b) Marginal cost

(c) Fixed cost (d) Variable cost ( )
HH-w T Ifa # oy & wry e agdt

(a) Sitea @ (b) Har @

(c) ¥urEt e (d) afedeia e ()
Which of the following cost curve is never ‘U’ shaped :

(a) Average cost curve (b) Marginal cost curve

(c) Average variable cost curve(d) Average fixed cost curve ()

fr=fafaa 3 Q@ - arE T 9t o U TR 1 98 B
(a) 3ira anT w3 (b) W= T
(¢) 3itea fad=eita o o (d) sifea feex g =6 ()
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(xi)  Which is the first order condition for the profit of a firm to be maximum :
@AC=MR (O)MC=MR (c)MR=AR (HAC=AR ()
o T % g ot ey i sifermaa A & fare wam e w6 vl - ®
(@WAC=MR (b)MC=MR (c)MR=AR (WAC=AR ()
(xii) Monopoly is based on :

(a) control over demand (b) control over supply

(c) control over population  (d) control over price level ()

wFIftR s

(a) WP % foEFo W (b) 9f & frmor =

(¢) IEE & frETo w® (d) 94 wR % FraTo w ()
(xiii) Maximum loss of a firm (in short period) will be :

(a) Equal to variable cost (b) Equal to fixed cost

(¢) Zero (d) Equal to average cost ()

ITETH W UH FH it Aftepran wf e ©) wdt ®
(a) ftadeite @ & aue  (b) feor @rma & |

(©) g (d) sirem @r™ ¥ FE ()
(xiv) MR = MC = AR = AC shows the long-run equlibrium position :

(a) Competitive firm (b) Oligopolist firm

(c) Monopolist firm (d) None of these ( )

MR = MC = AR = AC GRI Seiehre Sqerm ye g 2 ¢

(a) wirantt (b) sreafam wH =

(c) THIftrEnrl wH (d) T | = T ()

(xv) Liquidity preference theory of interest was formulated by :
(a) J.M. Keynes(b) J.S. Mill  (c) Fisher (d) Marshall ()
= % weeran SIftmm fagr wm wfoae e

(a) AH. F=G A (b) S.w|. fira A

(¢) fr 3 (d) AT A ()
(xvi) “Marginal productivity theory of distribution™ is propounded by :

(a) Mill (b) Hawley  (¢) J.B. Clark  (d) F.H. Knight ( )

“farercor =1 i SaaeE fagra ' wfewfia faean

(a) e (b) T (c) A&, A (d) TH.UHE. TRE( )
(xvii) Which of the following is not factor of production :

(a) lL.abour (b) Capital (¢) Land (d) Water ( )

frafafaa § @ -9 3cafa =y 72 ¢

(a) 9 (b) goft (c) vifa (d) Tt ()

(xviii) Average Revenue Productivity (ARP) of a factor is
(a) AR X APP  (b) AR x MPP (¢c) AR x MR (d) AR x MRP ( )
TIYA = SitEd ST (ARDP) #
(a) AR x APP  (b) AR x MPP (¢) AR x MR (d) AR x MRP ( )
(xix) Quasirent s linked to
(a) short-run (b) long-run 6 Ej) g :
(¢) both short-run and long-run(d) none of these ()
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(xx)

6.

9.

10.
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(a) STCIHTA (b) el

(c) 31T TE e A | (d) T | g e ()
“Uncertainty theory of profit” is propounded by :

(a) Mill (b) Hawley (¢) J.B. Clark  (d) F.-H. Knight ( )
Y et fagra ' whrmfea e .

(a) fr (b) =T (c) A=, Ak (d) TH.UH. g )

Section-A (@UE-37)
What do you mean by a production possibility curve ? How this curve be
used to explain the basic economic problems of choice ? S5+15/15
ICRA TG 56 © ST ) A09d B 2 =94 ! Jera feda gaeeti
T HA ¥ Tou 59 o5 o SuEm 9 e s € 2
Explain the consumer’s equilibrium with indifference curves.  20/15

IS sk favarao gry I9sieT & SaaE ® T S |

What is meant by elasticity of demand ? Explain the various methods of

measuring price ¢lasticity of demand. 5+15/15
A1 el A arad €2 |0 R S de A #5 fafie i -
I i |

Section-B (@Ug-9 )
Explain the law of variable proportions and its three stages. Why the second
stage is considered as the ecconomic stage ? 5+10+5/15
gfadeie st F Fem aon sl a9 sraEetl B . wife ) gEdt
e W E onfia sraeen o wed € 2
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(1) Price discrimination (i) Excess capacity 10+10/15
fr=fataa = we F:ifeE ;

(i) =iva favg (i) ST stfafie Seaee an
Explain any two of the following :

(1) Expansion path (11) Production function

(iit) Relationship between average Cost (AC) and Marginal Cost (MC)
frafafea # @ frel Q@ =1 v wifsE 10410/15
(i) fawm 9y (i) STRA FeA

(iit) ¥irEa @ (AC) T | e (MC) ® Ty

Section-C (GU8-H )
Fixplain critically the Marginal Productivity Theory of Distrubution.
farercor % wtara SR fagra #1 eneraAeT S &I L 20/15
Explain the determination of wagcs in perfect competition or in monopoly.

20/15

qot yfeefien 9 steran wsmfumr #§ woigd % fraion =t va i |
Explain the Liquidity Preference Theory of Interest. 20/15

I o Aol gHEn fagr =t wren i
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